=

—xGL

L\ s ™\ e i . R ——

Part- A /9T — &
MENTAL ABILITY / ¥Hfia Qugdr

1. Find the missing set of letters in
YWZX : USVT :: MKNL: ?

(A) IGHA B) IGJH
(C) IGH (D) IGHH

2. Ramis 5 times as old as Shyam. lfthcu'

difference of age is 8 years, then how old ,

is Ram?
+(A) Bycars ' __.(B) I0ycars
©) IZycars "4 (D) Syear

3. From the sct of numbers given in four
alternatives, which is most similar to the
set (1827 v
(A) (64.125,216) (B), (5.12.32)
(C) (60.79.86) (D) (33,67.73)
4. Which diagram correctly illustrates the
" relationship among: Carrot, Food,

Vegetables? ;
Do

“O

5. ‘Cyclone’ is related to ‘Anticyclone’, in
the same way as ‘Flood” is related to

Choos¢ the best option -
(A) Decvastation (B) Havoc
(C) River (D) Drought
6. Which diagram best illustrates the
relationship among: Pigeons, Birds, Dogs?

(A) @ OOO
© (D) @ o

1. Pra ¥ e weRl @ W I
g —
YWZX : USVT :: MKNL: ?
(A) IGHA. <. | “(B) 1GH
(C) 1IG) () IGHH

2. maﬁmm#swm%lmﬁ i

i aw e ad @ siR &, AT A

Q1 99 ?? )
(A)_ 8 7, ®) 10Tl
(C) 1274 @) 5

3. Ry w ar Aaw 3§ 3F w Ry T
e (1, 8, 27) B vaiE W 87

(A) (64,125,216) (B) (5.12,32)
(C) (60,79, 86) (D) (33,67,73)

4. WoR, @@ verf, wfemt w e - W fam
8 W Frofa & @ 22

©) @ (D)

qE AT & e R
I I fwer g -
(A) @@ (B) =
©) & (D)

6. T, ofdwl, TRl B <du B P — wur
fora w8 @ Frofa a= e 87

(A) @ B OOQ
(© (D) @ o
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7. If+ means X, X means - , + means X and 7. R + @ AAOTE X, X BT HAAQ —, + T
—means +, then2+8x16-4+2=7 AT xR — F1 e + &, A;
24+8x16-4+2="7
R B % @) 4 ® 8
(c) 10 D) 12 © 10 @) 12
8. Find the missing number in the given 8. fr= A i g s s AR -
" serics: A0 11, T8, TRAT, = immvsns 123, 199.
4&117, 618. 29,47, ..... ii{)'""v'&m' 199", bt E o
© 9 @) 105 © 95 o .‘°5, 1
9. Poles: Magnet : : ? : Battery I 9. ga:gaw::?: ¥’
Correct analogy for the above is - IR & ﬁN R I 8 -
(A) Energy (B) Power (A) Far (B) f‘m
(C) Terminals (D) Cells © zﬁm (D) q?raq
10. Choose the pair in which the words are 10. Br= 3 X oTa TRl @ @R B I
differently rclated from the following - "l -
(A) Broa.d:Wide (B) Light:Heavy A feE:der B) & T
(C) Tiny:Small (D) Big:Large (C) «g: o ®) I fama
* 11, Value of 0.003 x 0.02 is - 11. 0003x0.027%T 51 & —
' (A) 0.6 (B) 0.006 (A) 006 (B) 0.006
[ (© o006 (D) 0.000060 (©) 0.0006 (D) 0.000060
{12. Find the missing number in the marix? 12 = 3 | g woA A R ?
} T35 |6 P ENE
f 96 16 12 96 16 12
108 |2 18 108 |? 18
A £
A) 12 B) 16 A 12 (B) 16
(C) 18 (D) 20 (© 18 D) 20
Directions:(Q.13-14) Study the following Adwr13—-14) = 13 IP B T N
number line and answer the questions that TEI D IWES —

follow-
75952359485954593559535

9452535659
13. How many times do the two consccutive

759523594859545935595
359452535659

13. o IR & @OR Ry g S $ w A

numbers have a difference of 2? 2 T IFW &? 1
A 5 ® 7 @ 5 ((1:) '
© 9 (D S © 9
[EETYTEC-20](Series-B) Page 3 of 32
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16.

17.

19.

20,

How many times is °58° followed by *9%9

Wt Aan such pain, "X should not come
Netwe St

Ay 3 m 4
Ky S m 6
The neat term in the series is-
N, 228,288, ....... —

Ay 9 m 29
< (D) 34

Find the odd one out -
1 2 K]

O |'D S
A 1 @m) 2

3 D 4
11 378 coins consist of | rupce, SO paise
and 2S5 paise coins, whose values are in
the ratio 13:11:7, then number of S0 paise
coins will be -

(A) 136 ) 133

(€C) 132 (D) 128

In a cerain code, STYLE is writlen as
UVZIC and BLUNT is written as
DNVLR. How is MOULD written in that
code?

(A) OQVIB (B) KMVNT
(C) OQSNF (D) KMTNF

Mike stants from his home and drives
10 miles towards west. Then tums to his
nght and dnves 10 miles and then tums ta
his left and drives 5 miles again tuming to
his left, he drives for 10 miles. Finally, he
turns left and dnives 15 miles. What is the
shortest distance of his present location
from his home?
(A) Omiles
(C) 30 miles

U

(B) 50 miles
(D) 15 miles

4.

16.

17.

19.

The average age of Divya and Daksh is 22 20.

years. If Surbhi’s age is added to it. then
the average of their ages becomes 2B
years. What is Surbhi’s age?

P G R LS LU RUR
ST A 8 A e '3* VIS AT mfiky-

W 3 m

) § ‘ ‘(D) 6

A T T AT 8-

8,22, 8,28, B, ceviieninaene

A Y m 29

€ »n m M
artm @ sk DR -

1 :] ZD SQ 4 U
(A) 1 m 2

©) 3 o 4,

afy 370 Rrawl N @ v, 50 & WA 25
RN B Aed O RFE e g
13117 B, A 5 RN D REwl W TEm
a0

(A) 136 @) 133

() 132 ) i28

0 32 ¥, STYLE T uvac foan o & |

wd BLUNT ® DNVLR foran i &) 9w
e % MouLD R fran wmem?

(B) KMVNT
(D) KMTNF

(A) OQVIB
(C) OQSNF

Wmm%ﬁmaﬂ?w‘ﬂawﬁm;ﬁ‘{

N WE T AR TN W T W
10 #r7 o1 3R AR T 75 w5 A9 uw
TR AR A T g3 T 10 W "o @ A

TS AHNAS W A SAG W fherd g0 |

7z T IR qEar R 15 0 THar 211

(A) o"d () 50 AT
(C) 3099 (D) 15 9T .
feam aur zer o afvme oy 22 T &) afX
WA A W N A R e W
N 9 afvra 3y 28 af @ W &) @AY
7 9w T Brfi? . '

(A) 37ycars (B) 38 ycars (A) arad (B) 38 =t
(C) 39 ycars (D) 40 years (C) 39d (D) 40’7
[EEI’YTEC-ZO][Scries-B] Page 4 of 32

-

20, o ufen A, et ) gl D varg s MA,
Py Rm R swd) By i
afn A s ofn MR | M En D
ol uray gy, ueRg WA o e vl
@@ wn T ) i) W ) waredt A
IR IUFL O3 e 87

20, In an examination, Raj got more marks
thune Mukesh, but not us many as I'riya.
Priya got more murks thun Gaurnv and
Kuvita, Gaurav  got less  marks  than
Mukesh, but his marks ure not the lowest
in the group of five. Who is the second in

the descending order of marks? (A) R
(A} p,dyf‘ ) wfaw
(2) ll:n.vm (C) =
o : ) we A IR

.

(D) Cannat be determined

22. Introducing a boy, a girl said, ‘He is the 22,
son of the daughter of the father of my
matermal uncle’. What is the relation

@ @93 T oRgu AR E U% ad
D we N oA @ Rash @ T @
dem 81 ds W a5 ¥ am w87

, .

tgl\\'ccg the gir:Jnm: the boy? (A) idreh — amn
(A) Niece - Uncle
afeq — wrd
(B) Sister — Brother m m:ﬁ 3
(C) Aunt-Nephew © — Mald
(D) Sister-in-law and Brother-in- law (D) e — Sfrom
A
23. Which of the following is not related to 23, P A9 T R A wAtE T8 87
the others?
(A) Hamp () . Guitar (A) dom B) fier
(C) Flue ’ (D) Violin (C) dFa (D) R

dfa frst @ A, B3R D W I A AW Y
C.D ¥ g d &H &1 B, D W I A
e & ST E A W@ R) T wEE W

24 Among five friends, A is heavier than B& 24,
D. C is lighter than D. B is lighter than D
but heavier than E. Who among them is

the heaviest? ! [ 2.
(A) B ® C (A) B ® C
(C) D om A (C) D D A

ABR WAL EGCA TN 1 C.BI

_ Ais sister of B. F is daughter of G.Cis 25, ! J
3 wrar &1 D, CH R 21 E D W &1 A

mother of B. D is father of C. E is the

mother of D. Ais relatedto D as - FIDA AW E -
(A) Grand daughter (A) o
(B) Daughter ®) @&
(C) -Daughter-in-law © -
(D) Sister (D) oA ,
26. Find the odd onc out from the following— 26, f= 3 } @ I o| AR —
(A) Island (B) Coast (A) 89 (B) @
(C) Peninsula (D) Oasis (C) W (D) STafSwE
Page 5 of 32
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27 Find the odd one out - 27. e § A s @ T A~
(A) Clove (B) Cinnamon (A) (B) STl
(C) Pepper (D) Apricot (©) wrh frd (@) [

28. In a certain code language, BAT is coded 28. fll g w1 # BAT @1 29 foran o 2,
as 23, then how will CAT be written in the @ S @z wm A CAT @ T foran
same code language? S 3

(A) =2 ® 23 a) 22 ®B) 23
g2 & oy 35 © 24 ® 25

29. There are deer and peacocks in a zoo. By 29, Wmﬁﬁ?ﬂaﬁ‘(‘m?lmm
counting heads, they are 80. The number 2 e g0 &)1 ST IR F wEAT 200 2l
of their legs is 200. How many peacocks fray AR &
are there?

(A) 20 ®) 30 (A) 20 ®) 30
(©) 50 (D) 60 (©) 50 (D) 60

30. Gunjan spends 75% of his salary and 30. Wmmmvsmmﬁm&
saves 21500/~ per month. His monthly T 1500 ¥ WRAHE TR &) SWEH WD
salary is — I & -

(A) T5.000 (B) 5,500 (A) 5,000% (B) 5,500%
() €350 P Fo0N (©) 59002 (D) 60002

31. The next digit in the series is - 31, T A@an A 3Te ¥F A -

2,5,9,19,37,? 2,5.9.19,37,7
(A) 75 (B) 78 (A) 75 (B) 78
(C) 80 D) 73 (C) 80 (D) 73

32. Fill in the blank - 32. R w=m W -

SCD, TEF, UGH, ........WKL SCD, TEF, UGH, ....... WKL
(A) CMN (B) Ul (A) CMN (B) UII
(C) VU (D) UT (C) VI (D) UT

33. If Monday falls on the 1* of October, 33. 7fe ugdl srae@y I WHER gsar B, @ 96
which day will fall three days after the 7R A &9 ada @ 99 R g a9 @
20 in that month? TR TM? '

(A) Monday (B) Tuesday (A) UrER (B) ¥R
(C) Wednesday (D) Sunday (C) TR (D) AR
Page 6 of 32
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35.

36.

37

38.

Directions ((.34-36): Read the following
passage and answer the questions that
follow -

In a survey regarding a proposed measure
to be introduced, 2878 persons took part
of which 1652 were males, 1226 persons
voted against the proposal of which 796
were males. 1425 persons voted for the
proposal. 196 females were undecided.

How many females were not in favour of 34.
the proposal?
(A) 430 (B) 496
(C) 586 (D) 1226
How many males were undecided? 3s.
(A) 31 (B) 227
(C) 426 (D) 581
How many females voted for the 36.
proposal?
(A) 430 (B) 600
(C) 624 (D) 640

Observe the given pattern and find the 37.
missing number —

8 10 |12

3 ? 5

48 |80 (120
A) 2 ‘(@B 3
() 4 D 5

What will be the probability of getting an 38,
even number in tossing a dice?

(A) 144 (B) _1/6

© 13 ) 12

AT (1 34-38) : Prefafem mata B
weaY A Ry My v F IR ¥ —

@ g e & U wdEw § 2878
At A s foar R 1es2 ared o 1226
it A s & faes wa sen e A
796 JTEAT A | 1425 A F AT 7A RAAS
3 fea F @) 196 3RS gfmr & A1)

fral afed wwa & fea & =& A7

(A) 430 (B) 49
(C) 586 (D) 1226
ey amed gfeen 3 o7

(A) 31 (B) 227
(C) a26 (D) s81

et afral 3 g @ fRa & 5a Rar

(A) 430 (B) 600
(C) 624 (D) 640

few Ty wREE @ e & SR Rga
¥ TaE —

8 [10 |12

3 ? 5

48 Iso 120
A 2 B) 3
(c 4 D) 5

@ T @ ST W TE §E B I
wifirpar T B

(A) 14 (B) /6

© 13 D 12

afX 4 T WA & arTa 160 T @, @ 3

Scanned with CamScanner

39. If four dozen of oranges cost X 160, then 39.
what is the cost of three oranges? w3 2 arma e g
(A) T8 (A) 812
®) 39 ®B) 92
5} X1} © nt
(D) None of these (D) T ¥ FE A8
[EETYTEC-20][Series-B] Page 7 of 32
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40. The calendar for 1990 is the same asfor- 40. &+ 1990 & TATT frr @ @ WA -4

A
o ®) DR (A) 1997 (B) 2001
© 9 1 (C) 2000 (D) 1996
41. "Dog’ is related to ‘Kennel', in the same 41, ‘gar waw & FE@-T § T TR
way as ‘Bird isrelatedto ........ ... ‘éfzur " 2 a
Choose the best option - bl At _g#-
(A) Pen ®B) Chip s Ig"”““ .
@ ®) - Cope © = (D) ffoR

42. In the given diagram below, circle 42. ¥ @ ¢ Py H, g TN & VA
represents strong men, square represents gow, a7l aran & 99 gou, P aarm ¢
tall men. triangle represents army officers. A e sE-ar !\3 Afe e

Which region represents arm
S y officers :
who are tall but not strong? qaren &, o S & W uf¥wh @ &2

z L
A
A) 1 ®) 3 A 1 ® 3
4
© D) 2 (C) 4 (D) 2
43. Which of the following is different from 43. fPrenfda srpfadl ¥ A ohF 9w ¥ f= 22

the other figures?

(A) @ (®) ﬁ - @ i fii

O A 1® = I R ==

44. Decpak is the brother of Ravi. Rekha is 44. &uz ¥R @1 w1 2| ¥ amqe A afw 2
¥

the sister of Atul. Ravi is the son of '\’ﬁ‘\'mmgaewhm - Fals

Rekha. Then how is Deepak related to |y 27

Rekha? ’

(A) Son (A) 97

(B) Brother (B) g

(C) Nephew (C)

(D) None of these (D) T A a1 T8

[EETYTEC-20][Series-B] Page 8 of 32

45. Inacerain code language,
(i) ‘pit na som' means ‘bring me
water”,

() ‘na jo tod" means ‘water 1s life”
(iii)  ‘tub od pit’ means ‘give me toy'
(iv)  ‘jolin kat' means 'life and death’
Which of the following represents ‘is’ in

that language?
(A) jo (B) na

(C) tod (D) lin

46. Simple interest on 23,600 at 7.5% per

annum for 2 years 4 months is -

(A) 605

(B) 610

(C) 620

(D) None of these

47. A goods train runs at a speed of

72km/hr and crosses a 250m long platform
in 26 seconds. What is the length of the

goods train?
(A) 240m (B) 250m
(C) 270m (D) 300m

48. Nitin ranks 18" in a class of 49 students.

What is his rank from the last?

A) 31 (B) 18
© 32 M 19
49. Find the §dd one out —
(A) Crusade (B) Campaign
(C) Expedition (D) Cruise

§0. Which of the following is the smallest

number?
{(A) 15/16 (B) 16/6
(C) 7118 (D) 11712

45.

47.

49.

50.

s fAfaa o2 3§

(i)  ‘pit na som' H ¥ & ‘bring me
water’

(i) ‘na jo tod" T 1f & ‘water is life’

(iii) ‘b od pit" T 3 2 ‘give me 1oy’
(iv)  ‘jolinkat' FT 3rf 2 ‘life and death’
IR AT A is' fraa gfa wwan 87

(A) Jo (B) na

(C) tod (D) lin

3600 T W 7.5 ufama affs @Ww w® A 2
a4 4 HE B FURY ATA B —

(A) 605%

(B) 6102

(C) 6202

D) T A FE T8

@ W 72 5@ v W @ IR |
o 78 & R a 250 M T (F WCHH
) 26 VW F UR IX A &, A AL
# g fea Beir? .

(A) 240 (B) 250 W

(C) 270 A (D) 300 A

49 OTH N TN ¥ AR 18 ¥ W R B
SHFT 9B ¥ T G WA e

A 31 ®B) 18

© 32 D) 19
FETA B T DA —

(A) w9gE (B) f¥a=
(©) &= (D) WE e
T XA FEQ ORI A A AR

(A) 1516 (B) 16/6

(C) 718 D) 11/12

[EETYTEC-20][Series-B]

Page 9 of 32

Scanned with CamScanner



51. The

arustic  splendour city

o Part-B / {r1—-3
NERAL AWARENESS OF RAJASTHAN / Xroreir &) € AT

rulers of which dynasty ruled over 51.
‘Chandrawati’

during 11" and 12% centuries?

(A)
(B)
(©)
(D)

Gurjara - Pratihara
Parmars of Abu
Chauhans of Sambhar
Guhil - Sisodia

52

Kshetrapal, an important aspect of culture
of Rajasthan, is worshiped as -

(A) A village deity

(B) A village officer

(C) Anancestor

diaereh e TR wEEd | 1dl @
1281 wenfeat 3 fra @0 & AR T A
YET?

(A) TR - ufER

(B) Mg @ TR

(C) wrR B e

(D) TfRw — Ry

52 &, IeRUM A WP B UF Hewdqol

(D)

53. Which

A saint
of the

following  musical 53,

instument, is not a chordophone
instrument?
(A) Alghoza (B) Kamayacha
(C) Janmtar (D) Ravanahatha
54.  Which is the smallest district of Rajasthan
as per area?
(A) Dholpur
(B) Bharatpur
(C) Karauli
(D) Sawai Madhopur
55. The apex academic organization for

educational planning, implementation and

UEF, YT e & —
(A) um g B &Y H

(B) I Iferd @ w9
(€©) & g & wy ¥
(D) TF & @ w9 A

A} P qro-g4, aq A T
&
(A) AT
(C) W

(B) rTgar
(D) @7 Eer

WE § fEwd @ gfe ¥ W o
forar s &2

(A) R
(B) AR
(C) TR

(D) ward AmgY

55. V3o % Rardw vd ags Arr g
fator, fraraas v gwiew 3 R wate

evaluation for school and teacher MorE wrea & -
education in Rajasthan'is- (A). 3R TH. M. £ IR A
(A) RSCERT, Udaipur A LRIy
®) 1 E'B'W (©) & ad £ A (s1we), g
(C) DIET, Jaipur
(D) 3 ang. £, R
(D) RIE, Ajmer
[EETYTEC-20][Series-B] Page 10 of 32

$6. The period of which ruler of Kota, is 56/ @rer @ f ym@ & a1 W, e

# Rerftdl & Iope HA TN S Awal
&7

(A) wErRTa g R 1

(B) werma fai fie

(C) wera ygard e n

(D) wErm@ 3= e 1
g/augzﬁmmmamm

qv Aeremersi &1 Pt wwmar ar?

(wé o T 9 W)

supposed to be the excellent period for the
Kota School of Painting?

(A) Maharao Shatru Sal Singh |
(B) Maharao Kishor Singh
(C) Maharao Shatru Sal Singh [1
(D) Maharao Ummed Singh 1
§7. Maharaja Sawai Jai Singh of Jaipur built
the observatorics at which places?
(Select the right group)

(A) Jaipur, Varanasi, Ujjain,
Allahabad, Patna

(B) Jaipur, Varanasi, Ujjain,
Mathura, Delhi

(C) Amber, Bundi, Delhi,
Allahabad, Ahmedabad

(D) Jaipur, Ujjain, Mathura, Jhansi,
Patna

(A) TOgY, AR I5AA, FATEEIS,

e
B) AR, IR, I, 7G4, e
() amr, ¥4 fa=n  gemEmEm
EHETATE
(D) VAR, I, WY, W1, G

58\ “drn wag # woRea A e @@

58, How many members are elected in the

Indian Parliament from Rajasthan? oma &7
(A) 20 (B) 25 (A) 20 (B) 25
(C) 40 D) 35 (C) 40 (D) 35
§9. Where was the center of Revolt of 1857 in sﬁ/zrawn # 1857 & HIA BT F= el G’
Rajasthan? (A) AR
(A) Jaipur (B) m
(B) Jaisalmer
(C) Sri Ganganagar (C) AR
(D) Nasirabad (D) TERER

60. Which of the following is the correct pair
of rivers of Rajasthan falling in the Bay of

60 Tma @ Td # fra T o A

2Rt 71 7@ g B A @ I W R
(A) FTART 7d T

Bengal?
(A) Kalisindh and Jawai e ;
(B) Mahi and Parvati © T @ v

(C) Luniand Chambal
() Kalisindh and Gambhiri
61. Falku Bai is associated with -

(D) wrenfag IR T

61. Thom 4% WA & -

(A) Bhavai Dance (A) o TR

(B) Chari Dance B) TWIE A

(C) Kalbelia Dance (C) FToafera J@ A

(D) Terah Taali Dance (D) AR TQ A
[EETYTEC-20][Series-B] Page 11 of 32
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62.

65.

Where are “Kirti Stambh™ and “Vijay
Stambh™ situated?

(A) Chittorgarh
(C) Jodhpur

(B) Rajgarh
(D) Barmer
To which place, martyr Bhil girl Kali Bai
was associated?
(A) Rastapal (B)
(C) Bichhiwama (D)

Sagwara
Gorakheda
What is the sex ratio of women, as
compared to 1000 men in Rajasthan,
according to the Census of 2011?

(A) 921 (B) 928

(C) 955 m 917

The Plateau of Bhorat is spread in which
districts of Rajasthan?

(A) Udaipur, Rajsamand
(B) Banswara, Dungarpur
(C) Dungarpur, Pratapgarh
(D) Chinorgarh, Udaipur

Which of the following pairs of districts
has lowest literacy rate as per 2011
Census in Rajasthan?

(A) Sirohi and Pratapgarh

(B) Jalore and Banswara

(C) Jalore and Sirohi

(D) Jalore and Pratapgarh

Which city is situated at the bank of river
Ghaggar?
(A) Hanumangarh (B) Ramgarh
(C) Ajmer (D) Jaipur
Which district of Rajasthan has highest
literacy rate according to Census 2011?

62 oo i o o e o

63V iz fa wfye e, fra A F R

(A) T
\/(C)ﬁm
64. NTrorer § af 2011 @ FAOTN B ITIR,
1000 govf @ e §, R @ W @

65.\/ Wk T BR o @ 5 et § dan

66.

(B) TG
(D) TR

(A) fadsTe
(€) wuR

WE Y wEg 97
(B) rTarst
(D) TRTEST

oo fsaem 87
(A) 921 (B) 928
C) 955 (D) 917

T &
(A) VAR, TR
(B) aars], TRE

(C) IR, waqTe
(D) frefteTe, STaR

ST 2011 @ IER YoRUE B
Frefafea % @ 5 el @ 9R 3§ wa
TH ARl T 87

(A) AR R wammz

(B) TR 3R diwarer

(C) iR 3R RREA

(D) SR AR waraTE

6 TR T B Rk T T A
@) T @) g
C) IR D) AR

68./°2011 @ TN B ITER IR B g

Rrat ) s wwre = 2
Ak e o R (A) AR ®) e
(C) Sikar (D) Alwar (©) e ®)
(EETYTEC-20)[Series-B] Page 12 of 32

the 69.'\/4&11“ @ @M A saERl w9
T o A fa R o 27
(A) THA BRE

(B) 2T TR

(€) T W e

() Fu e d@mEa

70.  Which folk deity's wife became Sati after 70. & drw aw f o TR T ¥ I3

69. Who is credited 1o popularise
Manganiyar and Langa folk artists?
(A) Komal Kothari

(B) Devi Lal Samar
(C) Col. James Tod
(D) Kripal Singh Shekhawat

the death of her husband? wH B TE?
(A) Mallinath (B) Harbuiji (A) ¥ (B) &S
(C) Tejaji (D) Devji (C) Tl (D) TR

71.  Which of the following crop of Rajasthan 71.’\;&1«—! # fra 7 A T W TEA A
does not benefit from *‘Mavath'? } annfaa 8 @ 27
(A) Wheat (A) TE (B) =1
(C) Mustard (C) w«t (D) TuTH
72. When is the song ‘Jala’ sung by women? 72‘\/7#6!1' +fra Rl g1 P4 T A 87
(A) At the time of well worship

(B) Gram
(D) Cotton

. (A) FW G F T
(B) o TR B FTE R
(C) | & IR & ] @A TH W
D) & @ D FAE W

(B) On the occasion of Jal Jhulani
Ekadashi

(C) On visiting the bridegroom’s
wedding place

(D) On the occasion of Teej worship

23. One of the famous attractions for tourists 7jv/m F mvem@ & gdew @ fag
in Rajasthan is Mandawa town, which is AL ey 8 -
famous for -

(A) Military Museum
(B) A groupof temples
(C) Royal Palaces (C) wrowrERl & fag e
(D') Painted Havelis and Murals ) fefya v va RfRE

4 . &

74, The famous painter Baldeo, who painted 7Wv'l€1 N :Iﬁﬂar N q-rvgﬁ.qﬁ frfa
the manuscript of ‘Sheikh Saadi ki I T TALA, A D e faadeh

(A) o= Fueen & fag
(B) wRR ¥ @ fav

Gulistan', belonged to which style. of } waia ar?
painting of Rajputana? A) 4@ B) AR
(A) Bundi (B) Al.w:u pep o
(C) Deogarh (D) Kishangarh e FIATS
[EETYTEC-ZO][Serics-B] Page 13 of 32
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75. Who is the auth . i
e or of “Bhantiya Prachin' 75 /iy wrdr Rrferar @ @@ 319 L
(A)  Gaunshankar Hirachand Ojha w ﬁﬁm. "~
(B) Bishweshwar Nath Reu ® Tt 3mw =
(C) Ramkaran Asopa e Rrfaaa
(D) Muni Jinvijay ® T
76.  “Jhamarkotra Mines" is famous for - 764 | FTR®EIT i
(A) Lead-Zinc (A) Eﬁ‘m > i
(B) Rock Phosphate B m_;ﬂm -
(C) Calcite " Famge "
(D) Uranium © o
(D) Jfm
77. The author of Rankhar is — 77 W*a\;m
(A) Nand Bhardwaj . A e t
(B) Malchand Tiwari . qzw' frard
(C) Jitendra Kumar Soni ~ '
C) firiz &wr
(D) Madhu Acharya ‘Ashawadi' :o: am:d mm.
- ﬂ .
78. :;ynch was the last Princely State of 78\/Wm @ Afem Rama a3 e
jputana, accepting subjugation of East fafew Pea swh “;’jmﬁ'i“
India Company? HoR - o d
(A) Kota (B) Ud.‘lipl.ll’ (A) a;h;"? mg-\y
(C) Sirohi (D) Jodhpur (€) & & SR
79. Out of the following which one is n 5 IETETY]
otthe 79. = ¥ J ok [EECTI
example of folk - painting? E 22 e -
(A) Phad AL w8
(B) Bani— Thani B) T -
(C) Pathwari (C) werard
(D) Sanjhi (D) ==
80. Who was the first T
ok S excavator  of 80.  FIAET FT W Ie@ATFAT A or?
(A) SR Rao (A) TR [
(B) A.Ghosh
(B) U O
(C) B.K Thapar
(C) @3 uw
(D) R.C. Agarwal IuaTA
81. Where is Damah Wildlife Sanct 81 z(vli)z) e
Whaen | vary " I ARG TEl ey 87
(A) Ajmer (B) Kota (A) 3R (B) ?ﬁa
(C) Dholpur (D) Jodhpur (€) daR (D) hugR
[EETYTEC-20][Series-B) Page 14 of 32

82. With which of the following dances, 82\ Fyfafea # 3 R 7 LR

musical instrument Jhanjh is used?
(A) Kachchhi Ghodi dance

(B) Bomb dance
{(C) Terah Taali dance
(D) Gavari dance

83. In which district of Rajasthan, the famous 83.
Amar Sagar Jain Temple is situated?

(A) Barmer (B) Jaisalmer
(C) Jodhpur (D) Pali
84. The Secretary of Gram Panchayat is - 84.

(A) Pawwan

(B) Sarpanch

(C) Up -Sarpanch
(D) Gram Sewak

85. Who is the Chairman of West Zone 85.
Cultural Center, Udaipur?
(A) Govemor of Rajasthan
(B) Chief Minister of Rajasthan
(C) Tourism Minister of Rajasthan
(D) Divisional Commissioner  of
Udaipur
86. The boundary of Rajasthan touches how 86.
many state boundaries?
A) 5
) 4

(B) 6
(D) 3

87. Which two districts of Rajasthan have 87.

population density more than 500 persons
per square kilometre?
(As per census 2011)

(A) Jaipur, Dausa
(B) Jaipur, Bharatpur
(C) Jaipur, Alwar
(D) Jaipur, Banswara
88. Which dynasties were ruling in Delhi
during the reign of Maharana Kumbha?
(A) Slave - Khilji Dynasties

(B) Tughlag - Sayyid Dynasties
(C) Sayyid- Lodi Dynasties
(D) Lodi- Mughal Dynasties

Wumuammhmmv
(A) mﬁhu’m-gaz

®) T T
mmwmnﬁmwa‘»ﬁm
fora o amafea &7

(A) TR (B) AR

(C) R (D) U

T daTaa &1 |iad g @ —

(A) TEard

(B) wRU™

(C) SY—<vGd

(D) TH ¥EF
mmmm,wﬁm

) 4 (D) 3

T @ B Y A el § See g e
s00 i WA w BA W e &
(awmzona‘;u—gan)

(A) vOR A

(B) TOQR. FRAF

(C) TugR TR

(D) TUYR, raarst

88, wWeRmnm T B wEA I # R wr@

¥ e T & wrEA A
(A) =T - faash au
B) gTIF — 4TS IN
(C) ¥FaT — AN W
D) & — I U

(EETYTEC-20](Series-B]
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89. Famous 1ourist place *Samode Palace’ is 89. uftg yded =@ Mg wEd R %
situated in which district of Rajasthan? fra R & Rua &7
(A) Jaipur (B) Alwar SR B) TR
(C) Bh w ™
aratpur (D) Tonk (A7
o0 W . (C) AR (D) '
. R;halm;:: "’l;'r':"““"e percentage  of 90, IORYA B AFFA WA B e\-aqra a’ fara
jas $ surface area to the surface ufeera @ @ &7
area of India? ¥
& ® A) 1% (B) 8%
© 15% @) 5% © 15% D) 5%
91. Which of the following districts of 9], Prafafee 3 4 o @ faw R @
Rajasthan  has  shortest international ;
boundary? ) SRS W wa Bidr 22
(A) Jaisalmer  (B) Bikaner (A) TR (B) IR
(C) Barmer (D) Ganganagar (C) areRR (D) TR
92. When was “Rajasthan Housin
g Board” 92, m#mmmmmﬁaﬁﬁéﬁ
established t
o © cater the housing needs in ;ggrm:r AT AvSH” B WIUAT Fd Bl
(A) 08 March, 2008 (A) o8 wrd '
(B) 24 February, 1970 B) 24 Wg;m
(C) 31 July, 1997 o
(D) 02 October, 1986 :s; 3; Y, iy
' - IATAR. 1986
93.  Match the List — I 10 List — Il and choose 93, T - 1 I - 1R pla @R ek
the comrect answer from the codes given ‘qﬁu}a}’-ﬂﬂmﬂﬁm@'ﬂﬁ
below the lists — 97 Fiferg e
List - I (Author) List - IT (Book) N
T - 1 () wzm I (du)
I.  Kamidaan a. Ajitodaya I f fored
Il.  Daulat b. Kanhadade ' =
Vijay Prabandh I Za s b, sree? way
IlI. Padmanabh c¢. Khuman Raso L 9= . gAY I
IV. Jagjivan d. Suraj Prakash - ; '
o IV. Sorofied % d. 3391 ey
Code -
I oo oav | i 1
(A) d ¢ b a (A)dcbl:v
B) b a d B) b a d ¢
(C) a b c (C) ab ¢ d
(D) d a b ¢ M d a b ¢
[EETYTEC-20][Series-B] Page 16 of 32

o

94. The founder of the Sirohi  Rajya 94, fadé)l ey WoImvsa an IRea® =
Prajamandal was - (A) wmrare fed
(A) Kanhaiya Lal Mittal B oprw T faad
(3) Bhupendranath Trivedi (C) M wig vz
(C) Gokul Bhai Bhau (D) Hretdara @y

(D) Mitha Lal Vyas
worar § AfRes & wew @ sfreas

95, The maximum number of members in the 95,

Council of Ministers in Rajasthan can be - w2 e -
(:\l 25 (B) 30 (A) 25 (B) 30
«© 35 D) 40 (€) 35 (D) 40
96. Which part of the State is chielly 96. el SFwnfa I=T & fpm wm A g=m@
inhabited by Bhil Tribe? frar w87
(A) Northemn pant (A) S99 9T R/
(B) Eastern part ‘I‘ﬁ HT A
(C) Southern pan (C) =frh wm
(D) Western part D) qfyersfi W 3
97. Among the cash crops in Rajasthan, the 97. ORI ¥ ﬂ;’mﬁcﬁ wral § A e
i wafaa @ -
*Nerma' type is related to - A "
A L (A) = A (B) FUTE ¥
(A) Sugarcane (B) Cotton
; 4 e i
(C) Tobacco (D) Jojoba (C) a4 (D) SrSTE
98. Rajputana Madhya Bharat Sabha was 98. STSTarT T WA T[T T WG FE €S
founded in which year? (A) 1919 (B) 1924 A
(A) 1919 (B) 1924 (C) 1905 (D) 359 A FE T
(C) 1905 (D) None of these o
99.  Who among the following was not a ruler 99. frfafaa 8 9 1 GuR 99 T TES
of the Jodhpur State? &1 a1?
(A) Jaswant Singh (A) wuad fhe
(B) Ajit Singh (B) foma fie
(C) Anoop Singh (C) & i

(D) Mota Raja Udai Singh (D) wreT T fie
In which Assembly Election, the strength 100, f&e faurmeen 7 C o C R o

100.
of Rajasthan Legislative Assembly w;\s/ A oI T 184 § ITHT 200 & TE?
raised from 184 10 200? (A) =T (B) gigdl
(A) Fourth (B) Fifth © oo . "

(C) Sixth (D) Seventh

[EETYTEC-20](Scries-B] Page 17 of 32
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and language is -

Part-C / sr1—x
TEACHING APTITUDE / fRyqor aifyesan

101. The reason for under developed speech 101, aroft g st @1 JRGRT @ PRV
(A) W s @ a8 TETT

(A) Deafness after the knowledge

of language

(B) Lack of proper training

(C) Deafness since birth
(D) Deafness after

sometime of

B) <fra ufewr @ T

©)

W ¥ TENIT

(D) W= & TV WHG TR TEXI

) AN

107. What is the main characteristics of 107.

Continuous and Comprehensive
evaluation?
(A) It increases the work load on
students.
(B) It evaluates every aspect of the
student.
(C) It helps in reducing examination
phobia.
(D) Itreplaces marks with grades.

Py g

W @ @NE qearaa A g v

£

(A) TEd R w R @ R

@) ue Rerfl @ TE@E 9 TR
ar g

(©) 7€ THET 74 F TH XA A WEdD
il

(D) qE F@ B A F I7A TN

bi ‘ .
2 ‘mh s 108. Students follow that teacher of the 108. T3 RaTTa & Ia FATS P FTATT e
102, According to you. ‘In-Service Teacher 102. 3Tad AR, AR s wfir wrbEn s
Training Programme is a good way school - -
s y of o7 U oA e - s sreTl @ WA @
orientation’. This statement is - IR H b . (A) @ @ @ L
(é’ ;lncenain (B) False (A) PR (B) I\ (A) Who is according to their ideals (B) < g e F3
( iallv ; 3 .
) True (D) :’_:un:au) (C) W= (D) IR¥E TF :z)) xo is :;ot pl:l:l:l (©) frad 5= o a1 ol
om they liked to meet ; -
103. In the development of a student. which 103. ¥rers @ fwrm & P 3 & frwar . _ ot 3 (D) <T@ A IS & y
i one of the following contributes N A > () , Whois sactive Lookingwise 5 - & e
maximum? B & J 109. The teacher should have command on 109. R @ w4 F1d A g 1eT.
(A) A good school (A) oS A B bils work so'that - T - 5
o (A) Students will obtain knowledge (A) ©F fws § 54 9 T G |
(B) Textbooks (B) mgﬁ?ﬁ’f Eal from the teacher. . <o
(C) Rich parents () ‘ﬂ?ﬂ—fﬁ?ﬂ/ﬂﬂ (B) Students will be under control. @®) oA g w=)
) _ i / (C) Students will go for tuition to (C) ©TF fime & e TqvF T8 ST
(D) Eligible and dedicated teachers (D) urm 7 |afta arEga) & the teacher. . o
104. A teacher should have which kind of 104. & fiers @ ) weafidl & W frw (0) Sumasts ° @i1l" gett, ‘propes D). el L0 e
- . . 7 guidance. RS UE TS
attitude with his colleagues? PR @ gy BF =mfRe? 110. The child leams the primary lesson of 110. STRIMAS ;ﬁ HEAT ST
A { ! o 83 T8I AT & —
(A) Negative (B) Critical . responsibility from —
ol _ C" (A) TEREHE (B) TS "' A) Home (B) School (A) WF ®) o d
v iv <
ooperative (D) Creative (C) T THT (D) TEATHS (C) Society (D) Self (C) w9 & (D) V9 F
105. Main function of a teacher is - 105. T W 3 & - 111. For progress of the teaching profession, 111. T4 JEATH @IAT # wfg & g Far=
(A) Complete the syllabus on time (A) urEaFN T9a R gt Fwarr you will give maximum importance o - e WA S —
(B) Giving effective teaching to the ®) ©E B A R (A) Quality classroom teaching (A) TETEETET TR
students (B) Doing rescarch work B) IFEIA R FIAT
(C) Guiding the students (©) or @1 Anfeda o © Wl'iﬁ'fg S°°d_b°°k5 (C) ST GRS B wd@
(D) Partial behaviour with the (D) BE & A vHuTaqY @raRR Fe (D) To quit teaching work (D) ﬁnm‘ a4 |/ g9 .
students 112. Teachers and Head of institution are - 112. s U9 987 TUE 0@ T @ —
106. According 10 you, how should be the xoa\}uﬁch AATIAR, TeT e B S uif? (A) Competitors (A) whrSl & 81
class communication? (B) Friends B) 3 )
(A) Difficult (B) Moderate (A) Ffea (B) wWmHY (C) Co - workers (C) w=arft e 21
(C) Interesting (D) Effective (C) daw D) R (D) Opponents (D) fRER 2 &)
[EETYTEC-20][Series-B) Page 18 0of 32 [EETYTEC-20][Series-B] Page 19 of 32
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113,

114,

115,

117.

118.

While teaching in the class, if a student 113,
asks you a question and the answer lo
which you do not know, then whal
would you do?

(A) Make him sit afier scolding.
(B) Say the question is wrong.
(C) Try to answer his question as far
as possible.
(D) Promise to answer the next day.
‘For correct communication in the 114,
classroom, it is essential that your

behaviour should be dramatic’, This
statement is -

(A) Right (B) Wrong
(C) Probably (D) Cannot say
Wrong

According 1o you, the teachers should be  115.
punctual in school, because -
(A) This is their duty.
(B) If they come on time, the
students will also,
(C) They are role
students.
(D) Tt is not necessary to come on
time.
As a subject teacher, what the purpose of 116,
asking questions in the class?
(A) Discussion about
among students.
(B) To keep students active and
attentive in the class.
(C) For discipline in the class.
(D) To improve teaching.
The aim of teacher should be -
(A) To help the students clear their
examination.
(B) Overall development of the
students.
(C) To develop Skilfull behaviour
in students.
(D) To teach discrimination to
students.
Which teaching method would you 118.
adopt to develop creativity?
(A) Problem-solving method
(B) Story method
(C) Lecture method
(D) Case history method

model of

teaching

117.

nnﬁmﬁm@m’*mq;g;

qu, Rt 9w anaa wre é &

T W T w7

(A) 90 wreax faer )

(B) we ) Tera wEdR g9 TN A7

(C) S wyA @1 qURHA S 3
war| &4 |

(D) qua?mﬁﬁmﬁ”fl'

T 4 ofm wAw ¥ smww &

NE wgER Piew d Aed Bl TE

T B—

(A) w&
(C) w¥9aa: Tad

agF ¥, A ® w9 w® Raay

yr wfgy, Faify -

(A) TE 999 oda B

(B) 9§70 W 3 W oA M WY W
g |

(C) A v @ Wxon wa B B

(D) UG W AT ST T8 &)

% fRua sems & w9 ¥, e ¥ g qu

F1 a7 ILvg B 7

(A) orEl A A wad e Raef i)

(B) T2 3 Ol B Wby T vETT @S
55

(C) T A o g

(D) Rerr % Fur ¥q)

Rera 1 Stvg @ oy —

(A) o1 B gt Sl F N wErwen
T |

(B) Wﬁmmﬁﬂwﬁmm|

(C) wrEl @ ZTER ¥ Hyww T

(D) o B Yura R

M AT @ REa ¥ @R R

Rfr agar§a?

(A) TFE-aanr AR

(B) e fafy

(C) @rer fafy

(D) =fd sfera fafy

(B) T
(D) FE A€ FHA

[EETYTEC-20)[Series-B]
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119. For gaining knowledge, a teacher should 119, wrArsa @ fog, srmaa @ ey il

be -
(A) Making Efforts/Zealous
(B) Aware
(C) Book collector
(D) Inactive
120. “School is a miniature form of the 120.
society”. This statement is -
(A) Mostly True
(B) Panially True
(C) True
(D) False

According to you,
quality of a teacher is -

(A) Cheerful nature

(B) Attractive dressing

(C) Good personality

(D) Knowledge of teaching

methods

122. How can the Corrective Mcthod be
encouraged?

(A) By Play-Way method

(B) By Independent study

(C) By audio - visual aids

(D) By dramatic way

121. the fundamental 121.

122.

123. If all the students are not giving correct 123.
answers in your class, then what will
you do?

(A) Explain them.

(B) Give them homework.

(C) Complain to their parents.

(D) Repeat the lesson in the class.
124. To eradicate social evils you would -

(A) To aware people.

(B) Take resolution.

(C) Do nothing.

(D) Bring awareness through

posters.

124.

(A) waEha
B) |
(C) qw aueFal

(D) fama=

“fyaTern T @1 UF BTl w9 2| a8 B
g -

(A) feR a@ ;
(B) fh® wca

(C) W™

(D) ¥IFA

FTqd warER. @ e & WAfas @ -

(A) ETga T
(B) 3ned® Tnym
(C) o1 afdFra

T FET A afe TN 819 W8 wiadW TE 2
@ . a1 39 T FE7

(A) e FH|

(B) = yEad T |

(C) 3== wra-far | fema w3
(D) T | GrS H IEACT |

wAfas qUEdl F1 R I S oy 3 -
(A) AT T ATTES 4T |

(B) ¥FHA |

(C) TW & T

(D) YR gRT SEfd A

125. Your friend's son studies in your class, 125. IUS TR F GI T I F gedl 2

your behaviour towards him will be -
(A) Disciplined
(B) Partial
(C) Just like an ordinary student
(D) Likeason

IES 9fy JUH JWAER T -
(A) g

(B) w=gT@a QUi

(C) w4 BTR ¥ At
(D) g A i
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126. Being a teacher,
student in order 1o -
(A) Develop the
Quotient (IQ)
(B) Make them self-dependent
(C) Obutain higher education
(D) Remain a Bachelor
127. Why

Intelligence

(A) Tcaneamalot through tuitions.
(B) Icanteach my own children.
(C) Ilike teaching very much.
(D) Icannot get any other job.
128. According 1o you,
result of -
(A) Friendly
students
(B) Command over content and
communication
(C) Experience
(D) Training
Individual or Group appreciation in 129,
technical language is called -
(A) Discipline
(B) Reward
(C) Difference of opinion among
the students

effective teaching isa 128,

behaviour with

129,

you will encourage the 126, anq @ fiwrs B w9 H OTA ) !

T —

(A)
(B)
()
D)

A)
(B)
©
(D)

s wr et 7 ¥
WaaH T &g

= fen W FE 2
IfdafRa @ & g

did you decide to become a 127. W v Rurd T 79 T R
teacher?

3 gy TR TgA A F wHW K|
# I Wd B e P geT WA €|
fvror a9 orafe R R
# o1 o=y NEN € a1 wHa |

3M9d HATgER, W R ol @ —

(A)
(B)
(©)
(D)

oAl A AEads @EeRr a1
qIgEavg W ARER 7 AT B
S 1 '
wfirerer 1

AT AT AR TG N FAA B AR
TT 3§ FHET e & —

(A)
(B)
©)

I
REBR
BT ¥ Fegar

(D)

Helpful in skill management

(D) T[IA YaH A N WEUE

132. Leadership is a special process, for 132. #ged u fawm wfya a1 =m &, fnrd fag

which two best words are -
(A) Dominating - Subordination
(B) Dominating - Administration
(C) Dominating - Slavery
(D) Dominating - Follow

QY IFE TR T qhd & —
(A) W — anfFan
(B) Wq9 — wmHA
(C) Wy — T
(D) A — LTI

133. -Evaluation of students becomes essential 133, Re@ @ fag faandi @1 geae & a=en

for a teacher, because -

(A) The school pays the teacher for
this

(B) This is mentioned in rules and
regulations of the government

(C) Learning abilities of students
can be known

(D) This maintains Coordination
between leamning abilities and
remedial situations

Zfag amawas & wen @, e —

(A) T oy faem S8 @@ @
ATA F 2|

®) 7E wor @ frm R s A
sfefera grar 21

(C) wwa famfifar o sfrms smen @
ST Ere e 2|

D) I awar gd SvEREE  Rafy e
THT § WHEE a1 @ 2|

134. Before entering the class to teach, 1 134, @& ¥ feor &g waw &% @ @, § —

will -
(A) Make my mood cheerful.
(B) Gaze at my face in the mirror.
(C) Carmry the teaching aids for
today's lesson.
(D) Organize my lesson plan.
135. It is very important for teaching
profession -
(A) Constant learning
(B) Higher recommendations
(C) Teaching aptitude

(A) ¥TA @ wH=Iad g

(B) <91 F g wewr FEre

(C) = & dre & R wews awdl
[T S ATH |

(D) 91 93T ITaN @aferd &6 |

135. fmem @guma & fag =g eyl & —

(A) gL
(B) 1 ﬁm‘m §
(C) Py f¥erran

N

mscanner

th Ca

ﬁ
I

Scanned v

(D) 3@ & I=a wfawd
130. ild i socialized af (D) Higher percentage of marks )
" o o el T i 1, aw e 136. Being a teacher, will you suggest your 136. & fiw® g @ AW, ¥ 319 3UH F @
would be? TOR T qT?

(A)

Like a beast

son to become a teacher ?

i a3 @1 FE? ‘
A (A) No, because there is nothing in (A) 78 wifF 3@ wgEw 3 Fo T
(B) Unsocral B) uamfee this profession. sl 21
Antisocial ) ST (B) Yes, if he willingly gives his (B) @1, uft % W= § 39s oy e
W © consent for it. Brar 2|
(D) Fully social (D) yofarfe (C) Cannot say (C) e 78 "ad |
131. Homework makes the student love self- 131. e wrai @ W S @ T R, W D) Yes m) &
learning, but along with it, it - '

137. According to you, priority of the need of

— . 137. 9 @ F, TAAE RRT @awn ¥ gur @)
(A) Develops logic and thinking Wr-wr o § - ) improvgmcn( in the present education AITTHAT AT WA EAT & —
power among the students. (A) T @ Rer viw o= =a B system is - L (A) P @1 amErdee
(B) Reduces the tendency 10 roam (A) Comm;n:x ization o _ X
around. ®B) TH N wagf B T 7w 2y 21 education . ., (B) T WI® H 95dQ
(C) Makes him/her practice the fa (B) Change in evaluation system . O fwnd F1 AR W@
content knowledge N bk T BRI R (C) More use of computers in © s
(D) Causes tiredness.

(D)  UFF IG~ Fwar 2

education
(D) Change in the curriculum

(D) YSTHH H agAd
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138. The foundation of leadership is -
(A) Appreciation

. W— —

138. mmgﬁmmmwt—

A) Wl

(B) Desire 10 serve :B: Jqr ! FOT

(C) Welfare of the group (€) wE @ fea

(D) Nothing can be said (D) B T FE T

139. Social maturity means - 139, AR Rkaaan @ i & -

(A) Ripening of the child lik qd
Pron ild like a (A) TTFd I Fd o i |

(B) Development of wisdom in the ®) T A N B}
child. (€ e A wmie Ut

(C) Development of social P
efficiencies in the child. il ﬁﬂ'ﬁ

(D) Presentation of a balanced @) e @ WM B 4
social behaviour by the child, Jrfid AIER WA &l
like amongst adults. - |

140. Base agency of social development 140. Tad—aferdml @& WIS fwra @
among boys and girls is - AfYTHOT
AT HE T & -

(A) School (A) Raraa

(B) Parents and family ®) R @ eRar

(C) Community (C) WEH

(D) Means of communication (D: HROT B HETH

141. If a student tells you about any family 141, uf¥ v fanft amve swh wRaRe W
F ar A qara ¢, A I G FA?

problems. what will you do?

(A) Listen to hissher problem and
suggest possible solutions.

(B) Listen to his/her problem and
give moral support.

(C) Ask him 1o discuss only study
related problems.

(D) Ask him not to discuss family
problems.

(A)

(B)

©)

(D)

Sael . gan @R SN Wi
S A |

SR W gE iR I Afaw
wad |

IN a9 UeTd A walda wEEr @
Taf w3 @ fag w2

Ty uRaRe aaen @ ==l =8
T B fag wt) -

142. According 10 you, it is required in order 142, S AATAR, Lsitcet %-g arrmm% —

1o learn -
(A) Motivation by the teacher
(B) Common Sense
(C) Cunosity
(D) Reading Habit

143. According to you, education develops -
(A) Intellectualism
(B) Abilities
(C) Maturity
(D) None of these

(A)
(B)
(C)
(D)

(A)
(B)
(C)
(D)

IS ERT WS
W AH
forsman
9ga & 3meq

143, 3 7 A, e A Aol o & —
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144. To develop the qualities of a good
leader, the most important role is of -
(A) Political platform
(B) School
(C) Family
(D) Movie theatre

145. Teaching is an interacting process -
(A) Between teacher and parents
(B) Between student and teacher
(C) Among students
(D) Among teacher, students and
content
146. According to you, the
inter-personal relation is -
(A) Equality of thoughts
(B) Regionalism
(C) Education
(D) Money

147. The base of a child is formed by primary 147.

level teacher. Thus his job is -
(A) Crucial
(B) Easy
(C) Difficult
(D) Important

148. In order to develop logical ability and 148.
creative thinking among students, the

teacher should do -
(A) Group discussion
(B) Seminar
(C) Debate
(D) Give lecture to the students

149. According to you, what is required fora 149.

good teacher?
(A) Popularity among the colleagues
(B) Commitment  towards the
teaching profession
(C) Tobeanefl fective explorer

(D) Faith towards one's own
institution
150. Which of the following personal

qualities of a teacher. do affect teaching?

(A) Sensitivity

(B) Social skills

(C) Physical Strength
(D) Management abilities

base of 146.

145. o v qreais e @ —
(A) fus 3 ma-f @ =2
(B) oA 1 fims & ==
(C) VAT DR D T
(D) fawrs, BTE oIk RTgaR & 74

waﬁmﬁ.ﬁ&uﬁmﬁmmm
(A) Rt 3@ g

(B) &=

(c) fm=m

(D) Tgar — &=
maﬁ'-ﬁamuﬁﬁma%mm
AT B 21y IES I &

A) Foas

(B) wXd

(C) &fea

(D) ¥Eaqel
wamm@m
frqq @1 Rew I3 ¥g e 31w
FT °Ifeg?

(A) T uiEEr

(B) JHER

(O a=-faarR

(D) ©TE 1 TG4 &

o) g 3, e s fww @ faR w@
WS &7

(A) I wE-SHT § S

(B) e w1 @ ufd widggm

(C) TS FHrdl =TS T

(D) I Fn @ wia e

<

150. fr=1 & ¥ R @ @ & B o AR
N wifad TR &7
(A)  FagTT
(B) wrfA® HIAA
(©) e i
(D) Wa9 &
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Part-D / 511—-%
LANGUAGE PROFICIENCY-ENGLISH /737 argan : Jih .
Auempt all questions, choose the appropriate option from the ones given after each question =
151.  Fill in the blank using correct word —

o~ JEN R swim when he was young.
(A) mght (B) would
(C) could (D) None of these
152, What she saidagrees ... what I have already heard. (Preposition)
(A) from (B) with (C) of D) at
153.  Choose the correct synonym —
Abandon
(A) forsake (B) receive
(C) gft (D) grieve

154. Choose one word for the following phrase —
“Someone appointed by two parties to settle a dispute”,
(A) Negotiator (B) Arbiter
(C) Mediator (D) Middleman
155.  Change the following into Indirect Speech —
She said, "My father will help me.”

(A) She said that my father will help (B) She said that her father would help her.

me.
(C) She said that her father will help (D) She said that my father would help her.
her.
156. Choose the correct article —
Edwardsaidhes ... European.
(A) an (B) the ?
(C) a (D) None of the above
157. Choose the correctly spelt word —
(A) Perceive (B) Parceive
(C) Percieve (D) Perceave

158.  Which part of the sentence has error in it?
The rise and fall/of the tide/are due/to lunar influence.
(A) The rise and fall

(B) of the tide
(C) are due (D) 1o lunar influence
159.  Choose the correct antonym for the word “Malice” -
(A) Honour (B) Ecstasy
(C) Goodwill (D) Happiness
160. An averagecow .............. . one thousand four hundred ponds.
(A) weighs (B) weigh
(C) weighed (D) will weigh
[EETYTEC-20](Series-B) Page 26 of 32 T —
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161. Identify the kind of sentence —
What a fool you are! v
(A) Assertive Sentence (B) lnlcnog.:m\'e Sentence
(C) Exclamatory Sentence (D) Imperative Sentence
162. Change to direct speech —
He asked who lived next door. -
(A) He asked, “Who lives nextdoor””  (B) He said, “Who lived next door?
(C) He asks, “Who lives next door.” (D) He said, “Who lived next door.
163. Choose the word that is spelt correctly —
(A) comittee (B) balloon
(C) succesive (D) fullill
Directions: (Q.164 to Q.168): Read the passage and answer the qu§uons !hal f'ol::' ;n .
Alinlemanbesidcmcwasnmngm':rdxepagcsofama-gazmcqmcu) ; aly.
Opposite me there was a young mother who was trying to restrain ber son from mmng::tsc
The boy had obviously grown weary of waiting. Hchadplxedmshp} on the floor ::s
making Aecroplane noises as he waved a pencil in his hands. Ne_ar him. an old man v:; ast
asleep, snoring quickly to himself and the boy's mother was afrmd that sooner or later son
would wake the gentleman up.
164. What was the old man doing?
(A) Sleeping (B) Looking at the child
(C) Eating (D) Reading magaznne
165. 'What is meant by ‘restrain’ in the passage?
(A) control (B) encourage () 1re (D) reboke
166. The person who was least disturbed wasthe ... ... .
(A) observer (B) son
(C) old man (D) lrttde man
167. Thenoise wasmade by ............................ .
(A) the old man (B) the Acroplane
(C) the little man (D) the boy
168. The factor common to all the people was that they wereall ... .
(A) watching a film (B) waitng for something
(C) looking at the lttle boy's (D) reading magazine
playfulness
169. Menfear. ..ol death.
(A) a (B) an (C) the (D) noarticle
170. 1bought this watch ........ R I two thousand rupees.
(A) in (B) with (C) for (D) at
[EETYTEC-20](Series-B] Page 27 of 32
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171

176.

177.

178.

179.

-7
W A - R
yama Rre M -
A) I + B+ s = A
(©) g+ V] + 3= dhea
AT W A W W pr @

@) i+ R+ anf = s
(D) 3 + T + T + ¥E = WFOT

(A) A (B) @A (C) A (D) T

. fam A A et v feve a1 qufgard T8 8

(A) ¥R ®) Prig © Pt ) fem
. ':awmmﬁ'.mﬁmmm@mm—

(A) TETE (B) @Ot (C) aeoTar (D) TwHOTd
5. uftig Q=g MEE @ das € -

(A) YRTUT (B) Wwug

(C) anga haw M) T ¥ o T

of2 ¥ TR T FIN, A FEA @ IR [, qa B FHR T

(A) WNRY A (B) Pw A (©) wgw A @) i @

frefafra & | aeqey WM BT IAEV & —

(A) 3merda (B) aurnf¥ (©) wufafem (D) A

w9 ¥ REm e @ -

(A) = ®) fPrfa ©) frie m g

A A I gErY o wh I R -

(A) HUgF M (B) =X Imp

(C) {=x aeg A 3R o1 o (D) gy [rr

fty @ qatg 98 & -

(A) @ (B) UE@® (C) afdm (D) Ty
FTE AERINE HAHIEA AegeT BT IETERV TE 2?7

(A) uw=aaEn! (B) F=HIgY (C) ™9 (D) Y™
fa Ree A 0 werg &1 war 7@ g @7

(A) uiforr (B) Rarvim (C) = (D) w3

@ @, 3 TARE & I @ -

(A) & wgfa & 7E @) (B) o A ufd 8 ?)

(C) Z0Ter <1 3R A g ) (D) WA B GIATS A B G|
‘ag efUUR 9 By A YTHER weTd W &, I @ 4y e ueE -

(A) 3HA (B) W= (C) @ D) =%
‘AT W o I @ -
A) frman & (B) f@—fEa (C) fam wér @ D) e 3

araarn @ foe @ & @ wed # I gy —
(A) fora wa fem mar & = #a

(B) foraa &9 aga 91 wodl € = fAwew
(C) ¥ax R 7R @l e & = R

(D) it FfAW a9 are R da @ = oA
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187.

Pr= W W e area w1 g A -

(A) el R arn A wewed @fdi

(B) mmwmma@qﬁhﬁl
(C) w1 W wrdrg gdamd &1

M) A Ay w1 T @ e &

. arone’ o OfY e @ -

a (A) T® + A (B) TS + A (C) ar + wrd (D) JT+ A
9. ‘Remrr we A B wa 87
¥ A) whRT B) T (© e ® =
190. wfY T Efe W= & - ’

(A) =i @) TR (C) wafA (D) =R
191, A @ fae e we ® et § wra @ gi-

(A) o $wm & & — $E

®) @ o D 7@ T @ — I

() Rrwd A wait 3§ Fren 8 — TwafAw

(D) o I o A S g B — Fard
192. =1 @) A e odh g @7

(A) sgmém  (B) R © it @) T
193. fre 4 A R @ waw A 98 e w1 ama #:fA -

A) R+ R = RPR B) W+ WA = Hooad

(C) T + dmard = parard ) A + == R
194. f1 Res | ‘g WA o WA afga w9 A g0 87 -

(A wifra ') fafaa (C) ufaa m) gfaa
195, araym @ aef & — '

(A) 3rFTEA (B) 7= AR wIHs

(C) 3w & & arel (D) aeh A T
196, Prafafua § @ e By swwt & 58 T

(A) ) frafe © fa (D) =
197. Y& TE T TG P —

(A) @fEa (B) w=HfA (C) JrTEe (D) fARrf
198. T WUE B A B Tl § awma g - :

(A) TM-TEA = TR &8+ (B) FToTHA = Isfas g

(C) TFER = TR &8 (D) TE-—TE = FAER &85
199. ‘3 q TS HETR HT W I ® — -

(A) ol o o1 srfen awg IFTET W g

(B) <l sramawen §

(C) UHHIA WERT

(D) W< A B R IW IR B AFR a0
200. = ¥ A P W R Suwed [ T @2

(A) uRfY (B) RIS (C) w=idom (D) girdt
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AT
ATNT A WAy

171. g< IR TEH T[T - A

(A) Rwm m z@f (B) ﬁm"ﬂmﬁ”

(c) fmm =i ) fi
172. Iuifenady Y& JEaHRa —

(A) T3 W 3T far (B) mmmﬁﬂ!!

(€) T3 wE amTer R ®) gaea we s
173. 3 v B faafw faww 72 N

(A) 7T B) &g () =& (D)
174. Ay Ieq TIHRA —

(A) & T Ta B) I g fafa

(C) ¥ o8 wfewad (D) @ BgD B
175. 7T =W gqdl tEaen 6 weq - 4 A

(A) (B) WA (C) (D) T
176. ‘STEW Tew vE Fggaw wed -

(A) amardt (B) e (C) mamat: (D) mardar
177. Sywiwen furas Eeia?

(A) =T EEE (B) WIET:

(C) Inger D) SyaTh: R
178. 3§ I9 SHRUNIEIRA —

(A) T7c (B) arq: (C) @vaarg (D) &=
179. o7& € T3 I T@@ T FEam: IRa?

(A) g=® (B) TE © T o) R
180. <3 gEw Tesfy afFE TR e w @ Rl afRa?

(A) fedmar (B) TTH (C) T D) T
181. <fF y=w fRgiorts & afw?

(A) w4 B) frm (©) & D) wEh
182. % 9rAl I AR WANIOESIETARG —

(A) 53 (B) 3r@ (C) 3m@Ea (D) 3myaq
183. 37 + Ug 9yl FWeadTd w4 Hafd — v

(A) 9= (B) M= (C) smage: (D) I
184. sEifafaay faasesenia -

(A) aEw=TR (B) =@l A (C) @7 (D) =Ry

- 185. 9u=" vew % wtufgww afe?
f (A) T9 + 0= (B) W91 + 3= (C) T9 + 7% D) I 4+ ¥
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186. ‘aeoid’ W Wiy Rwge @ afa?

(A) T+ (B) Ao+ T (C) @ + 4 (D) I+ an
187. wrEUEEy w2 & wHrE. fa?

(A) DER TgET ®B) agdf aeqee

(C) 7= Tegon: (D) T FGEH
188. fawi s=mRwE wafd -

(A) TG (B) T3 (C) i (D) 3=t
189. nifaRedy & areRa — .

(A) W AT (B) W J@EATERIET

(C) ITH: AT JATH (D) W IWrEAT InATE
190. W v (9 v IJgTEN W [ —

(A) Wy (B) watam (C) wafg (D) w4
191. @ + foafy e fras afesfa —

(A) weferafy (B) afesafa (C) afeerafa (D) aRezafa
192. 9 urar A AR AT TEIAT W —

(A) ¥aa (B) ¥aq (C) wfaarss (D) ¥Iarg
193. 1AV AW IR WA U ey @fEd uew & fagstar

(A) gfsH B) wfogm (C) AgasHfTgd (D) fE
194, Fdan] — afgaan] — ufdder RNy TRy & wwa?

(A) Ty (B) daq wa (C) Tq =g (D) @@ wOg
195, Y’ e wRE forgy amafa?

(A) gfes (B) -gw@fer (©) =i (D) wafyd
196. WqE W&y watgar & Af¥a?

(A) guTHR: (B) IR (©) ez (D) fRAsx
197. ¥ + 99 + u95’ g & w9 afa?

(A) worE (B) wofier (C) womm (D)  worsr
198. ORNEY TUF AETEISRT —

) wgdl wger B) B ager (0 v awger (D) =R TGET
199. 3Imfy w=: IrEvvmiE —

(A) W (B) waf (C) s (D) H=_T
200. A’ W W aifdd —

(A) T (B) Tag (€) @&y D) I
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